EARAROBREBRT —5 XN—ZXBISH—F

2023598128 (X) 6EIKIR6H

¥ 3= C2MmiE USRI ‘ (XR] B ‘ (eEEsm] - | 5 13000 FAE
[AE%E) 1 &:400,000F ~ 23%&:140,000 9  337#%:80,000M  43%&:52,000MH  53&:28,000H
RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
Jyk—<E7—h i3 ﬁ*gﬂx 1:(2_3).2 4-4-2-1 |39.4| - 1 (11?; ggﬁ KR
R:aAN/VUvF— B:IJUPIFT—h ot {Bth
T 0SS 4 3 g%m)\ 1:(27%.3 2-2-1-2 | 40.7| - 2 (:% %ﬁgg GKR)
RiJUIA9—2 BFvFTrvI+—T o=
99795 0— i3 Sﬁgﬁg%@ 1:(265).2 6-6-5-4 |40.6| - 5 f;) %ﬁg@ﬁégm)
R:d7reyX B:DI9IFUIUX HFEEARIS
=3 /A4FRYT # 3 ;EEJ%E?E 1:25.6 3333 |#1.5| — | 4 | 457 fég{%— KR)
NN . . 2172 *21) E
R:IAYYTSwyva B:NILTTL—IL BARIS
S5 ~ — 4 3 | BFE 1:28.3 5-5-6-5 | 43.7 | — 6 33 | Al GKR)
->77 7 7 l{ B 54.0 (941) -8 ?ﬁ?ﬁﬁj
RN—EYIv— B:SvF—UTa AR
—~ =~ aiaIgE = -1- — - R (KOR)
w11 | PRZ=VT 420 i 2 54.0 (chib) 114 3 (f?:') i;m;:;
RIARASKRI—9 B:PIZVvadl filiikae=
® 1—F—BEBIEfI
13—7F— 1,4,2,6,3,5
20—F— 1,4,2,6,3,5
30—7F— 4,6,2,1,5,3
40—7F— 6,4,2,5,3
o ILRE
BB 6 1B0H| | 914K 4-6 140H B E 4-6 3004 3ER 4-5-6 5504
B B 6 1109 5-6 280M =51 6-4 3904 3Es 6-4-5 1,360
4 170/ 4-5 470M

ABIC OV TRUTEREERRODDZE. THRIIZEL.



